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Theorems related to circle

Exercise

1. Multiple Choice Questions (MCQ) AOB is a

diameter of the circle with centre at O. CD is a

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_HdhU71T0ZjAF


chord of a circle and . If DC = 8cm

and OE = 3cm. Then the length of AOB is

A. 10cm

B. 6cm

C. 12cm

D. 16cm

Answer:

Watch Video Solution

OE ⊥ CD

https://dl.doubtnut.com/l/_HdhU71T0ZjAF


2. The length of two chords AB and CD of a

circle of centre O are equal and 

, then  is _____

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

∠AOB = 60∘

∠COD

30∘

45∘

60∘

90∘

https://dl.doubtnut.com/l/_ts9ya6Rjku8o


3. AB and CD are two equal chords of a circle

with centre O. If  and CD = 8cm,

then the radius of the circle is 

A. 4cm

B. 8cm

C. 12cm

D. 6cm

Answer:

Watch Video Solution

∠AOB = 60∘

https://dl.doubtnut.com/l/_CzPmO7bmrEVi


4. PQ and RS are two chords of equal length of

a circle with centre O. If the perpendicular

distance from O upon PQ is 9cm, then distance

of RS from O is

A. 5cm

B. 9cm

C. 12cm

D. 13cm.

https://dl.doubtnut.com/l/_CzPmO7bmrEVi
https://dl.doubtnut.com/l/_sZ21j98rdxHV


Answer:

Watch Video Solution

5. AB and CD are two chords of equal lengths

of the circle with centre at O. The distance of

the chord AB from the centre O is 4cm. Then

the distance of the chords CD from the centre

O is

A. 4cm

B. 8cm

https://dl.doubtnut.com/l/_sZ21j98rdxHV
https://dl.doubtnut.com/l/_c90G0OVuYhwj


C. 2cm

D. none of these.

Answer:

Watch Video Solution

6. P is a point within a circle with centre O. If

the radius of the circle is 13cm. And OP = 12cm,

then the length of the least chord through P is

A. 4.5cm

https://dl.doubtnut.com/l/_c90G0OVuYhwj
https://dl.doubtnut.com/l/_zMIn02LnTplh


B. 5.5cm

C. 9cm

D. 10cm.

Answer:

Watch Video Solution

7. Two parallel chords PQ and ST of length

10cm. And 24cm. Respectively are drawn on the

opposite sides of the centre O of the circle. If

https://dl.doubtnut.com/l/_zMIn02LnTplh
https://dl.doubtnut.com/l/_HCMBJUG2YuOo


the distance betwwen the chords PQ and ST is

17cm, then the radius of the circle is

A. 13cm

B. 13.5cm

C. 14cm

D. 15cm.

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_HCMBJUG2YuOo


8. O is the circumcentre of  and CA is

a diameter of the circle. AP is a chord. IF

, then the value of  is

A. 

B. 

C. 

D. none of these.

Answer:

Watch Video Solution

△ PCQ

∠PCA = 35∘ ∠PQC

35∘

45∘

55∘

https://dl.doubtnut.com/l/_5T2lFUIQDqZm


9. The length of each of two parallel chords AB

and CD is 16cm. If the radius of the circle be

10cm, then the distance between the two

chords is

A. 8cm

B. 10cm

C. 12cm

D. 16cm.

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_BzpKGfEr0Lo9


10. If O is the circumcentre of , then

the value of  is

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

△ ABC

(∠OBC + ∠BAC)

45∘

60∘

75∘

90∘

https://dl.doubtnut.com/l/_BzpKGfEr0Lo9
https://dl.doubtnut.com/l/_okMxORvKzoVS


11. ABC is a right angled triangle, right angled

at B such that BC = 6 cm and AB = 8 cm. A circle

with centre O is inscribed in . The

radius of the circle is____

A. 1 cm

B. 2 cm

C. 3 cm

D. 4 cm

Answer:

△ ABC

https://dl.doubtnut.com/l/_okMxORvKzoVS
https://dl.doubtnut.com/l/_G90IzjtbsSTf


Watch Video Solution

12. From three non-collinear points we can

draw_____

A. No circle

B. only one circle

C. only two circle

D. Many circles

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_G90IzjtbsSTf
https://dl.doubtnut.com/l/_PYRXW6ntrYVa


13. The length of each of two parallel chords

AB and CD is 16cm. If the radius of the circle be

10cm, then the distance between the two

chords is

A. 12 cm

B. 16 cm

C. 20 cm

D. 5 cm

https://dl.doubtnut.com/l/_PYRXW6ntrYVa
https://dl.doubtnut.com/l/_LtJ17RdZIwgG


Answer:

Watch Video Solution

14. The radius of the incircle of the equilateral

triangle having each side 6 cm is ____

A. 

B. 

C. 

D. 2 cm

2√3cm

√3cm

6√3cm

https://dl.doubtnut.com/l/_LtJ17RdZIwgG
https://dl.doubtnut.com/l/_0nMP1czqHxQ2


Answer:

Watch Video Solution

15. In a triangle, if orthocentre, circumcentre,

incentre and centroid coincide, then the

triangle must be_____

A. obtuse angled

B. isosceles

C. equilteral

D. right-angled

https://dl.doubtnut.com/l/_0nMP1czqHxQ2
https://dl.doubtnut.com/l/_cYcsa47i4LCi


Answer:

Watch Video Solution

16. One chord of a circle is known to be 10 cm.

The radius of this circle must be _____

A. 5 cm

B. greater than 5 cm

C. greater than or equal to 5 cm

D. less than 5 cm

https://dl.doubtnut.com/l/_cYcsa47i4LCi
https://dl.doubtnut.com/l/_8zu7C3vGlZRz


Answer:

Watch Video Solution

17. Two equal circles of radius 4 cm interest

each other such that each passes through the

centre of the other. The length of common

chord is ____

A. 

B. 

C. 

2√3cm

4√3cm

2√2cm

https://dl.doubtnut.com/l/_8zu7C3vGlZRz
https://dl.doubtnut.com/l/_MgRcjnbW4kKt


D. 8 cm

Answer:

Watch Video Solution

18. Chords AB and CD of a circle intersect

externally at P. If AB = 6 cm, CD = 3 am and PD =

5 cm, then the length of PB is ____

A. 4 cm

B. 5 cm

https://dl.doubtnut.com/l/_MgRcjnbW4kKt
https://dl.doubtnut.com/l/_2wbXYQeUaE0Y


C. 6 cm

D. 7.35 cm

Answer:

Watch Video Solution

19. Chords AC and BD of a circle with centre O

interest at right angles at E. If ,

then the value of  is _____

A. 

∠OAB = 25∘

∠EBC

30∘

https://dl.doubtnut.com/l/_2wbXYQeUaE0Y
https://dl.doubtnut.com/l/_RhUW0bglv7Z1


B. 

C. 

D. 

Answer:

Watch Video Solution

25∘

20∘

15∘

20. If two concentric circles are of radii 5 cm

and 3 cm, then the length of the chord of the

larger circle which touches the smaller circle

is___

https://dl.doubtnut.com/l/_RhUW0bglv7Z1
https://dl.doubtnut.com/l/_3qjQmjmNz8Dn


A. 6 cm

B. 7 cm

C. 10 cm

D. 8 cm

Answer:

Watch Video Solution

21. Two circles having radii r units interest

each other in such a way that each of them

https://dl.doubtnut.com/l/_3qjQmjmNz8Dn
https://dl.doubtnut.com/l/_48Wr9YMYSw0R


passes through the centre of the other. Then

the length of their common chord is ____

A. r units

B. `sqrt2r units

C. `sqrt3r units

D. `sqrt5r units.

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_48Wr9YMYSw0R

